# A RESEARCH ON A NEW APPROACH TO EULER POLYNOMIALS AND BERNSTEIN POLYNOMIALS WITH VARIABLE $[x]_{q}$ 

NAM SOON JUNG, CHEON SEOUNG RYOO*


#### Abstract

In this paper, we consider a modified Euler polynomials $\widetilde{E}_{n, q}(x)$ with variable $[x]_{q}$ and investigate some interesting properties of the Euler polynomials. We also give some relationships between the modified Euler polynomials and their Hurwitz zeta function. Finally, we derive some identities associated with Bernstein polynomials.

AMS Mathematics Subject Classification : 65H05, 65F10. Key words and phrases : modified Euler polynomials, zeta function, Bernstein polynomials.


## 1. Introduction

The Euler numbers and polynomials have been studied by researchers in many areas of mathematics, mathematical physics and statistical physics(cf. [1, 3, 5, $6,7]$ ). Furthermore, many generalized and modified theories are investigated by them(see $[2,4,8,9,10,11,12]$ ). It is well known that the ordinary Euler numbers and polynomials are defined as below, respectively.

$$
\begin{gather*}
F(t)=\frac{2}{e^{t}+1}=e^{E t}=\sum_{n=0}^{\infty} E_{n} \frac{t^{n}}{n!},  \tag{1.1}\\
F(t, x)=\frac{2}{e^{t}+1} e^{x t}=e^{E(x) t}=\sum_{n=0}^{\infty} E_{n}(x) \frac{t^{n}}{n!} . \tag{1.2}
\end{gather*}
$$

Observe that $E_{n}(0)=E_{n}(c f .[1,3,5,6,7])$.
Let $p$ be an odd prime number. Throughout this paper, the symbol $\mathbb{Z}_{p}, \mathbb{Q}_{p}$, $\mathbb{C}_{p}$ denote the ring of $p$-adic integers, the field of $p$-adic rational numbers, the complex number field, and the completion of algebraic closure of $\mathbb{Q}_{p}$, respectively.

[^0]$\mathbb{N}$ denotes the set of natural numbers and $\mathbb{Z}, \mathbb{Q}, \mathbb{C}$ denote the ring of integers, the field of rational numbers and the set of complex numbers, and $\mathbb{Z}_{+}=\mathbb{N} \cup\{0\}$. Let $\nu_{p}$ be the normalized exponential valuation of $\mathbb{C}_{p}$ with $|p|_{p}=p^{-\nu_{p}(p)}=$ $p^{-1}$. When one talks of $q$-extension, $q$ is considered in many ways such as an indeterminate, a complex number $q \in \mathbb{C}$, or $p$-adic number $q \in \mathbb{C}_{p}$. If $q \in \mathbb{C}$, then one normally assume that $|q|<1$. If $q \in \mathbb{C}_{p}$, we assume that $|q-1|_{p}<p^{-\frac{1}{p-1}}$ so that $q^{x}=\exp (x \log q)$ for $|x|_{p} \leq 1$ (cf. [1-12]).
Also, in this paper, we use the definition of $q$-number :
\[

$$
\begin{equation*}
[x]_{q}=\frac{1-q^{x}}{1-q}, \quad[x]_{-q}=\frac{1-(-q)^{x}}{1+q}(\mathrm{cf.}[3-7]) \tag{1.3}
\end{equation*}
$$

\]

Hence, $\lim _{q \rightarrow 1} \frac{1-q^{x}}{1-q}=x$ for all $x$ with $|x|_{p} \leq 1$ in the present $p$-adic case.
For $g \in U D\left(\mathbb{Z}_{p}\right)=\left\{g \mid g: \mathbb{Z}_{p} \rightarrow \mathbb{C}_{p}\right.$ is uniformly differentiable function $\}$, the fermionic $p$-adic integral on $\mathbb{Z}_{p}$ is defined by Kim as follows:

$$
\begin{equation*}
I_{-1}(g)=\int_{\mathbb{Z}_{p}} g(x) d \mu_{-1}(x)=\lim _{N \rightarrow \infty} \frac{1}{\left[p^{N}\right]_{-1}} \sum_{x=0}^{p^{N}-1} g(x)(-1)^{x}(\text { cf. }[2,3,4,5]) \tag{1.4}
\end{equation*}
$$

Let $g_{n}(x)$ be the translation with $g_{n}(x)=g(x+n)$. Then we have following integral equation:

$$
\begin{equation*}
I_{-1}\left(g_{n}\right)+(-1)^{n-1} I_{-1}(g)=2 \sum_{l=0}^{n-1}(-1)^{n-1-l} g(l)(c f .[2,3,4,7]) \tag{1.5}
\end{equation*}
$$

From (1.5), we get

$$
\begin{equation*}
I_{-1}\left(g_{1}\right)+I_{-1}(g)=2 g(0) \tag{1.6}
\end{equation*}
$$

where $g_{1}(x)=g(x+1)$. By the definition of $p$-adic integral and the generating function of Euler polynomials, we can obtain the relationship between Euler numbers and polynomials as belows

$$
\begin{gather*}
E_{n}(x)=(E+x)^{n} \\
E_{0}=1,(E+1)^{n}+E_{n}=2 \delta_{0, n}, \tag{1.7}
\end{gather*}
$$

where $\delta_{i, j}= \begin{cases}1, & \text { if } i=j, \\ 0, & \text { if } i \neq j .\end{cases}$
In this paper, we define the modified Euler polynomials with variable $[x]_{q}$ and investigate some properties. We try to find relation between modified Euler polynomials and ordinary Euler numbers and polynomials. Also, we define the analogue Hurwitz zeta function using modified Euler polynomials. And we study on the relation between the modified Euler polynomials and Bernstein polynomials with variable $[x]_{q}$.

## 2. The modified Euler polynomials with variable $[x]_{q}$

In this section, we introduce a new approach to Euler polynomials using variable $[x]_{q}$. We define a modified Euler polynomials and find some interesting properties which are related to the Euler polynomials with variable $[x]_{q}$. From $\lim _{q \rightarrow 1} \frac{1-q^{x}}{1-q}=x$, we consider the relation between the modified Euler polynomials $\widetilde{E}_{n, q}(x)$ and the ordinary Euler polynomials $E_{n}(x)$.
Definition 2.1. For $q \in \mathbb{C}_{p}$ with $|1-q|_{p} \leqslant 1$, we define a modified Euler polynomials $\widetilde{E}_{n, q}(x)$ as below:

$$
\sum_{n=0}^{\infty} \widetilde{E}_{n, q}(x) \frac{t^{n}}{n!}=\int_{\mathbb{Z}_{p}} e^{\left(\frac{1-q^{x}}{1-q}+y\right) t} d \mu_{-1}(y)
$$

By using $p$-adic integral on $\mathbb{Z}_{p}$, we get the generating function of the modified Euler polynomials as follows:

$$
\begin{equation*}
F_{q}(t, x)=\frac{2}{e^{t}+1} e^{\left(\frac{1-q^{x}}{1-q}\right) t}=\frac{2}{e^{t}+1} e^{[x]_{q} t}=\sum_{n=0}^{\infty} \widetilde{E}_{n, q}(x) \frac{t^{n}}{n!} \tag{2.1}
\end{equation*}
$$

The generating function is related to that of the ordinary Euler polynomials from (2.1).

$$
\lim _{q \rightarrow 1} F_{q}(t, x)=\lim _{q \rightarrow 1} \frac{2}{e^{t}+1} e^{\left(\frac{1-q^{x}}{1-q}\right) t}=\sum_{n=0}^{\infty} E_{n}(x) \frac{t^{n}}{n!} .
$$

By using Definition 2.1, we obtain the modified Euler polynomials as follows:

$$
\begin{equation*}
\widetilde{E}_{n, q}(x)=\int_{\mathbb{Z}_{p}}\left(\frac{1-q^{x}}{1-q}+y\right)^{n} d \mu_{-1}(y), \quad \widetilde{E}_{0, q}(x)=0 \tag{2.2}
\end{equation*}
$$

From (2.2), we get the next Theorem.
Theorem 2.2. Let $n \in \mathbb{N}$ and $q \in \mathbb{C}_{p}$ with $|1-q|_{p} \leqslant 1$. Then we have

$$
\widetilde{E}_{n, q}(x)=\left(\frac{1-q^{x}}{1-q}+E\right)^{n} .
$$

Proof. By using $p$-adic integral, we have

$$
\begin{align*}
\widetilde{E}_{n, q}(x) & =\int_{\mathbb{Z}_{p}}\left(\frac{1-q^{x}}{1-q}+y\right)^{n} d \mu_{-1}(y) \\
& =\sum_{l=0}^{n}\binom{n}{l}\left(\frac{1-q^{x}}{1-q}\right)^{n-l} E_{l} . \tag{2.3}
\end{align*}
$$

Hence, we get the result as below

$$
\widetilde{E}_{n, q}(x)=\left(\frac{1-q^{x}}{1-q}+E\right)^{n} .
$$

The result can be expressed $\widetilde{E}_{n, q}(x)=\left([x]_{q}+E\right)^{n}$ by the equation (1.6). From Theorem 2.2, we have the following example.

Remark 2.1. We get the following equations when we substitute $n=1,2,3,4$.

$$
\begin{aligned}
& \widetilde{E}_{1, q}(x)=\left(\frac{1-q^{x}}{1-q}\right)-\frac{1}{2} \\
& \widetilde{E}_{2, q}(x)=\left(\frac{1-q^{x}}{1-q}\right)^{2}-\left(\frac{1-q^{x}}{1-q}\right) \\
& \widetilde{E}_{3, q}(x)=\left(\frac{1-q^{x}}{1-q}\right)^{3}-\frac{3}{2}\left(\frac{1-q^{x}}{1-q}\right)^{2}+\frac{1}{4} \\
& \widetilde{E}_{4, q}(x)=\left(\frac{1-q^{x}}{1-q}\right)^{4}-2\left(\frac{1-q^{x}}{1-q}\right)^{3}+\left(\frac{1-q^{x}}{1-q}\right)
\end{aligned}
$$

From remark 2.1, we note that $\lim _{q \rightarrow 1} \widetilde{E}_{n, q}(x)=E_{n}(x)$. So, we can see that the coefficients of $\widetilde{E}_{n, q}(x)$ are equal to the coefficients of Euler polynomials $E_{n}(x)$ (cf. [1]).

From Theorem 2.2, we also have the following corollary.
Corollary 2.3. Let $n \in \mathbb{N}$ and $q \in \mathbb{C}_{p}$ with $|1-q|_{p} \leqslant 1$. Then we get

$$
\widetilde{E}_{n, q}(x+y)=\sum_{l=0}^{n}\binom{n}{l} \widetilde{E}_{l, q}(x) q^{x(n-l)}[y]_{q}^{n-l} .
$$

Proof. By the equation (2.1) and Cauchy product,

$$
\begin{aligned}
\sum_{n=0}^{\infty} \widetilde{E}_{n, q}(x+y) \frac{t^{n}}{n!} & =\frac{2}{e^{t}+1} e^{[x+y]_{q} t} \\
& =\sum_{n=0}^{\infty} \widetilde{E}_{n, q}(x) \frac{t^{n}}{n!} \sum_{m=0}^{\infty}\left(q^{x}[y]_{q}\right)^{m} \frac{t^{m}}{m!} \\
& =\sum_{n=0}^{\infty} \sum_{l=0}^{n}\binom{n}{l} \widetilde{E}_{l, q}(x)\left(q^{x}[y]_{q}\right)^{n-l} \frac{t^{n}}{n!}
\end{aligned}
$$

Hence, we have

$$
\widetilde{E}_{n, q}(x+y)=\sum_{l=0}^{n}\binom{n}{l} \widetilde{E}_{l, q}(x) q^{x(n-l)}[y]_{q}^{n-l} \frac{t^{n}}{n!}
$$

Theorem 2.4. Let $n \in \mathbb{N}$ and $q \in \mathbb{C}_{p}$. We get

$$
(-1)^{n} \widetilde{E}_{n, q}(1-x)=\widetilde{E}_{n, q^{-1}}(x)
$$

Proof. If $t=-t$ and $x=1-x$ in (2.1), then

$$
\begin{aligned}
F_{q}(-t, 1-x)=\frac{2}{e^{-t}+1} e^{[1-x]_{q}(-t)} & =\frac{2}{e^{t}+1} e^{[x]_{q}-1} t \\
& =\sum_{n=0}^{\infty} \widetilde{E}_{n, q^{-1}}(x) \frac{t^{n}}{n!}
\end{aligned}
$$

Hence we have

$$
F_{q}(-t, 1-x)=\sum_{n=0}^{\infty} \widetilde{E}_{n, q^{-1}}(x) \frac{t^{n}}{n!}
$$

Therefore we can see that

$$
(-1)^{n} \widetilde{E}_{n, q}(1-x)=\widetilde{E}_{n, q^{-1}}(x)
$$

From the equation (1.5), we get the following theorem.
Theorem 2.5. Let $n \in \mathbb{Z}_{+}$and $q \in \mathbb{C}_{p}$ with $|1-q|_{p} \leqslant 1$. Then we have

$$
\left([x]_{q}+m+E\right)^{n}+(-1)^{m-1} \widetilde{E}_{n, q}(x)=2 \sum_{l=0}^{m-1}(-1)^{m-1-l}\left([x]_{q}+l\right)^{n} .
$$

Proof. Let $f(y)=e^{\left([x]_{q}+y\right) t}$. The Equation 1.5 is expressed as below:

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}} e^{\left([x]_{q}+y+n\right) t} d \mu_{-1}(y)+(-1)^{n-1} \int_{\mathbb{Z}_{p}} e^{\left([x]_{q}+y\right) t} d \mu_{-1}(y) \\
& =2 \sum_{l=0}^{n-1}(-1)^{n-1-l} e^{\left([x]_{q}+l\right)^{k}}
\end{aligned}
$$

Then, left-hand side is

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}} e^{\left([x]_{q}+y+n\right) t} d \mu_{-1}(y)+(-1)^{n-1} \int_{\mathbb{Z}_{p}} e^{\left([x]_{q}+y\right) t} d \mu_{-1}(y) \\
& =\sum_{k=0}^{\infty} \sum_{l=0}^{k}\binom{k}{l} n^{l} \widetilde{E}_{k-l, q}(x) \frac{t^{k}}{k!}+(-1)^{n-1} \sum_{n=0}^{\infty} \widetilde{E}_{k, q}(x) \frac{t^{k}}{k!} \\
& =\sum_{k=0}^{\infty}\left([x]_{q}+n+E\right)^{k} \frac{t^{k}}{k!}+(-1)^{n-1} \sum_{k=0}^{\infty} \widetilde{E}_{k, q}(x) \frac{t^{k}}{k!}
\end{aligned}
$$

Right-hand side is

$$
2 \sum_{l=0}^{n-1}(-1)^{n-1-l} e^{\left([x]_{q}+l\right)^{t}}=\sum_{k=0}^{\infty} \sum_{l=0}^{n-1} 2(-1)^{n-1-l}\left([x]_{q}+l\right)^{k} \frac{t^{k}}{k!}
$$

By using comparing coefficients of $\frac{t^{n}}{n!}$, we have

$$
\left([x]_{q}+n+E\right)^{k}+(-1)^{n-1} \widetilde{E}_{k, q}(x)=2 \sum_{l=0}^{n-1}(-1)^{n-1-l}\left([x]_{q}+l\right)^{k}
$$

Theorem 2.6. Let $n \in \mathbb{Z}_{+}$. If $m \equiv 0(\bmod 2)$, then

$$
\left([x]_{q}+m+E\right)^{n}-\widetilde{E}_{n, q}(x)=2 \sum_{l=0}^{m-1}(-1)^{l+1}\left([x]_{q}+l\right)^{n} .
$$

If $m \equiv 1(\bmod 2)$, then

$$
\left([x]_{q}+m+E\right)^{n}+\widetilde{E}_{n, q}(x)=2 \sum_{l=0}^{m-1}(-1)^{l}\left([x]_{q}+l\right)^{n}
$$

Let $m=1$ in Theorem 2.6. Then we have the following theorem.
Theorem 2.7. Let $m=1, n \in \mathbb{Z}_{+}$. Then we have

$$
\left([x]_{q}+1+E\right)^{n}+\widetilde{E}_{n, q}(x)= \begin{cases}2 & \text { if } n=0 \\ 2[x]_{q}^{n} & \text { if } n \neq 0\end{cases}
$$

## 3. The analogue of the modified Euler zeta function

In this section, we assume that $q \in \mathbb{C}$ with $|q|<1$. We define the modified Euler-Hurwitz zeta function with variable $[x]_{q}$. In other words, the modified Euler-Hurwitz zeta function interpolates the polynomials. Differentiating the equation (2.1) gives the following result.

$$
\begin{equation*}
\left.\frac{d^{k}}{d t^{k}} F_{q}(t, x)\right|_{t=0}=2 \sum_{m=0}^{\infty}(-1)^{m}\left([x]_{q}+m\right)^{k} \tag{3.1}
\end{equation*}
$$

We define the modified Euler-Hurwitz zeta function as following definition.
Definition 3.1. For $s \in \mathbb{C}$ with $\operatorname{Re}(s)>0$, we define $\zeta_{q}(s, x)$ by

$$
\zeta_{q}(s, x)=2 \sum_{m=1}^{\infty} \frac{(-1)^{m}}{\left(\frac{1-q^{x}}{1-q}+m\right)^{s}}=2 \sum_{m=1}^{\infty} \frac{(-1)^{m}}{\left([x]_{q}+m\right)^{s}}
$$

Note that $\zeta_{q}(s, x)$ is a meromorphic function on $\mathbb{C}$.
Remark 3.1. If $q \rightarrow 1$, then we can observe that $\lim _{q \rightarrow 1} \zeta_{q}(s, x)=\zeta(s, x)$.
That is,

$$
\lim _{q \rightarrow 1} \zeta_{q}(s, x)=\lim _{q \rightarrow 1} 2 \sum_{m=1}^{\infty} \frac{(-1)^{m}}{\left(\frac{1-q^{x}}{1-q}+m\right)^{s}}=2 \sum_{m=0}^{\infty} \frac{(-1)^{m}}{(x+m)^{s}} .
$$

Relation between $\zeta_{q}(s, x)$ and $\widetilde{E}_{k, q}(x)$ is given by the following theorem.
Theorem 3.2. For $k \in \mathbb{N}$, we have

$$
\zeta_{q}(-k, x)=\widetilde{E}_{k, q}(x)
$$

Observe that $\zeta_{q}(-k, x)$ function interpolates $\widetilde{E}_{k, q}(x)$ polynomials at non-negative integers.

## 4. The relations between the modified Euler polynomials and the Bernstein polynomials

In this section, we investigate the relations between the modified Euler polynimials and the Bernstein polynomials. From Theorem 2.4, we can see that $\widetilde{E}_{n, q}(1)=(-1)^{n} \widetilde{E}_{n, q^{-1}}=(-1)^{n} E_{n}$. Then we have the following theorem.

Theorem 4.1. Let $n \in \mathbb{N}$. Then we have

$$
\widetilde{E}_{n, q}(2)=(q-E)^{n} .
$$

Proof. By using $p$-adic integral on $\mathbb{Z}_{p}$, we have

$$
\begin{aligned}
\widetilde{E}_{n, q}(2) & =\int_{\mathbb{Z}_{p}}\left([2]_{q}+y\right)^{n} d \mu_{-1}(y)=\sum_{l=0}^{n}\binom{n}{l} q^{n-l} \widetilde{E}_{l, q}(1) \\
& =\sum_{l=0}^{n}\binom{n}{l} q^{n-l}(-1)^{l} \widetilde{E}_{l, q^{-1}}=\left(q-\widetilde{E}_{q^{-1}}\right)^{n} .
\end{aligned}
$$

Thus we can see that

$$
\widetilde{E}_{n, q}(2)=(q-E)^{n}
$$

For $x \in \mathbb{Z}_{p}$, the Bernstein polynomials of degree $n$ are defined by

$$
\begin{equation*}
B_{k, n}(x)=\binom{n}{k} x^{k}(1-x)^{n-k}, \quad \text { where } \quad x \in[0,1], n, k \in \mathbb{Z}_{+} .(\text {cf. }[3,5,8]) \tag{4.1}
\end{equation*}
$$

By the equation (4.1), we get the symmetry of the Bernstein polynomials as below:

$$
\begin{equation*}
B_{k, n}(x)=B_{n-k, n}(1-x) . \tag{4.2}
\end{equation*}
$$

Using $p$-aidc integral on $\mathbb{Z}_{p}$, we get the next theorem.

Theorem 4.2. Let $n \in \mathbb{N}$. Then we obtain

$$
\int_{\mathbb{Z}_{p}}(1-x)^{n} d \mu_{-1}(x)=\sum_{l=0}^{n}\binom{n}{l}(-1)^{l}\left(1+[2]_{q}\right)^{n-l} \widetilde{E}_{l, q}(2) .
$$

Proof. For $n \in \mathbb{N}$, we have

$$
\begin{aligned}
\int_{\mathbb{Z}_{p}}(1-x)^{n} d \mu_{-1}(x) & =\int_{\mathbb{Z}_{p}}(-1)^{n} \sum_{l=0}^{n}\binom{n}{l}\left(-1-[2]_{q}\right)^{n-l}\left(x+[2]_{q}\right)^{l} d \mu_{-1}(x) \\
& =\sum_{l=0}^{n}\binom{n}{l}(-1)^{2 n-l}\left(1+[2]_{q}\right)^{n-l} \int_{\mathbb{Z}_{p}}\left(x+[2]_{q}\right)^{l} d \mu_{-1}(x) \\
& =\sum_{l=0}^{n}\binom{n}{l}(-1)^{l}\left(1+[2]_{q}\right)^{n-l} \widetilde{E}_{l, q}(2) .
\end{aligned}
$$

From $p$-dic integral for the Bernstein polynomials, we get the following theorem.
Theorem 4.3. For $n, k \in \mathbb{Z}_{+}$with $n>k+1$, we have

$$
\sum_{l=0}^{k}\binom{k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n-k+l}=\sum_{l=0}^{n-k}\binom{n-k}{l}(-1)^{l} E_{k+l}
$$

Proof. For $n>k+1$, we get

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}} B_{k, n}(x) d \mu_{-1}(x)=\int_{\mathbb{Z}_{p}}\binom{n}{k} x^{k}(1-x)^{n-k} d \mu_{-1}(x) \\
& =\binom{n}{k} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l} \sum_{s=0}^{n-k+l}\binom{n-k+l}{s}(-1)^{s}\left(1+[2]_{q}\right)^{n-k+l-s} \widetilde{E}_{s, q}(2) \\
& =\binom{n}{k} \sum_{l=0}^{k}\binom{k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n-k+l}
\end{aligned}
$$

We have that

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}} B_{k, n}(x) d \mu_{-1}(x)=\int_{\mathbb{Z}_{p}}\binom{n}{k} x^{k}(1-x)^{n-k} d \mu_{-1}(x) \\
& =\int_{\mathbb{Z}_{p}}\binom{n}{k} x^{k} \sum_{l=0}^{n-k}\binom{n-k}{l}(-1)^{l} x^{l} d \mu_{-1}(x) \\
& =\binom{n}{k} \sum_{l=0}^{n-k}\binom{n-k}{l}(-1)^{l} E_{k+l} .
\end{aligned}
$$

Since $\widetilde{E}_{n, q}=E_{n}$, we can see that

$$
\sum_{l=0}^{k}\binom{k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n-k+l}=\sum_{l=0}^{n-k}\binom{n-k}{l}(-1)^{l} E_{k+l}
$$

From Theorem 4.1 and Theorem 4.3, we get Corollary 4.4.
Corollary 4.4. Let $n, k \in \mathbb{Z}_{+}$with $n>k+1$. Then we derive

$$
\left.\binom{n}{k}\left(\left(1+[2]_{q}\right)-(q-E)^{s}\right)^{n-k}\left(-[2]_{q}+\widetilde{E}_{q}(2)\right)\right)^{k}=\binom{n}{k} \sum_{l=0}^{n-k}\binom{n-k}{l}(-1)^{l} E_{k+l}
$$

Theorem 4.5. For $n_{1}, n_{2}, k \in \mathbb{Z}_{+}$with $n_{1}+n_{2}>2 k+1$, we get

$$
\begin{aligned}
& \sum_{l=0}^{2 k}\binom{2 k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n_{l}+n_{2}-2 k+l} \\
& =\sum_{l=0}^{n_{1}+n_{2}-2 k}\binom{n_{1}+n_{2}-2 k}{l}(-1)^{l} E_{2 k+l}
\end{aligned}
$$

Proof. Let $n_{1}, n_{2}, k \in \mathbb{Z}_{+}$with $n_{1}+n_{2}>2 k+1$. Then we have

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}} B_{k, n_{1}}(x) B_{k, n_{2}}(x) d \mu_{-1}(x) \\
& =\int_{\mathbb{Z}_{p}}\binom{n_{1}}{k}\binom{n_{2}}{k} x^{2 k}(1-x)^{n_{1}+n_{2}-2 k} d \mu_{-1}(x) \\
& =\binom{n_{1}}{k}\binom{n_{2}}{k} \sum_{l=0}^{2 k}\binom{2 k}{l}(-1)^{l} \int_{\mathbb{Z}_{p}}(1-x)^{n_{1}+n_{2}-2 k+l} d \mu_{-1}(x) \\
& =\binom{n_{1}}{k}\binom{n_{2}}{k} \sum_{l=0}^{2 k}\binom{2 k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n_{l}+n_{2}-2 k+l} .
\end{aligned}
$$

We can see that

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}} B_{k, n_{1}}(x) B_{k, n_{2}}(x) d \mu_{-1}(x) \\
& =\int_{\mathbb{Z}_{p}}\binom{n_{1}}{k}\binom{n_{2}}{k} x^{2 k}(1-x)^{n_{1}+n_{2}-2 k} d \mu_{-1}(x) \\
& =\binom{n_{1}}{k}\binom{n_{2}}{k} \sum_{l=0}^{n_{1}+n_{2}-2 k}\binom{n_{1}+n_{2}-2 k}{l}(-1)^{l} \int_{\mathbb{Z}_{p}} x^{2 k+l} d \mu_{-1}(x) \\
& =\binom{n_{1}}{k}\binom{n_{2}}{k} \sum_{l=0}^{n_{1}+n_{2}-2 k}\binom{n_{1}+n_{2}-2 k}{l}(-1)^{l} E_{2 k+l} .
\end{aligned}
$$

Hence, we obtain

$$
\begin{aligned}
& \sum_{l=0}^{2 k}\binom{2 k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n_{l}+n_{2}-2 k+l} \\
& =\sum_{l=0}^{n_{1}+n_{2}-2 k}\binom{n_{1}+n_{2}-2 k}{l}(-1)^{l} E_{2 k+l}
\end{aligned}
$$

From Theorem 4.1 and Theorem 4.5, we have Corollary 4.6 that is analogous to Corollary 4.4.

Corollary 4.6. For $n_{1}, n_{2}, k \in \mathbb{Z}_{+}$with $n_{1}+n_{2}>2 k+1$, then we have

$$
\begin{aligned}
& \left(\left(1+[2]_{q}\right)-(q-E)\right)^{n_{1}+n_{2}-2 k}\left(-[2]_{q}+\widetilde{E}_{q}(2)\right)^{2 k} \\
& =\sum_{l=0}^{n_{1}+n_{2}-2 k}\binom{n_{1}+n_{2}-2 k}{l}(-1)^{l} E_{2 k+l} .
\end{aligned}
$$

Using the above Theorem 4.3, Theorem 4.5 and mathematical induction, we have the following theorem.

Theorem 4.7. Let $n_{1}, n_{2}, n_{3}, \cdots n_{s}, k \in \mathbb{Z}_{+}$with $n_{1}+n_{2}+\cdots+n_{s}>t k+1$.
We get

$$
\begin{aligned}
& \sum_{l=0}^{t k}\binom{t k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n_{1}+n_{2}+\cdots+n_{t}-t k+l} \\
= & \sum_{l=0}^{n_{1}+n_{2}+\cdots+n_{t}-t k}\binom{n_{1}+n_{2}+\cdots+n_{t}-t k}{l}(-1)^{l} E_{t k+l} .
\end{aligned}
$$

Proof. Let $s \in \mathbb{N}$. For $n_{1}, n_{2}, n_{3}, \cdots n_{s}, k \in \mathbb{Z}_{+}$with $n_{1}+n_{2}+\cdots+n_{s}>t k+1$. Then we can see that

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}}\left(\prod_{i=1}^{t} B_{k, n_{i}}(x)\right) d \mu_{-1}(x) \\
= & \int_{\mathbb{Z}_{p}}\left(\prod_{i=1}^{t}\binom{n_{i}}{k}\right) x^{t k}(1-x)^{n_{1}+n_{2}+\cdots+n_{t}-t k} d \mu_{-1}(x) \\
= & \left(\prod_{i=1}^{t}\binom{n_{i}}{k}\right) \sum_{l=0}^{t k}\binom{t k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n_{1}+n_{2}+\cdots+n_{t}-t k} .
\end{aligned}
$$

Also, we have

$$
\begin{aligned}
& \int_{\mathbb{Z}_{p}}\left(\prod_{i=1}^{t} B_{k, n_{i}}(x)\right) d \mu_{-1}(x) \\
= & \int_{\mathbb{Z}_{p}}\left(\prod_{i=1}^{t}\binom{n_{i}}{k}\right) x^{t k} \sum_{l=0}^{n_{1}+n_{2}+\cdots+n_{t}-t k}\binom{n_{1}+n_{2}+\cdots+n_{t}-t k}{l}(-1)^{l} x^{l} d \mu_{-1}(x) \\
= & \left(\prod_{i=1}^{t}\binom{n_{i}}{k}\right)^{n_{1}+n_{2}+\cdots+n_{t}-t k} \sum_{l=0}\binom{n_{1}+n_{2}+\cdots+n_{t}-t k}{l}(-1)^{l} E_{t k+l} .
\end{aligned}
$$

Therefore we can see that

$$
\begin{aligned}
& \sum_{l=0}^{t k}\binom{t k}{l}(-1)^{l}\left(\left(1+[2]_{q}\right)-\widetilde{E}_{q}(2)\right)^{n_{1}+n_{2}+\cdots+n_{t}-t k+l} \\
= & \sum_{l=0}^{n_{1}+n_{2}+\cdots+n_{t}-t k}\binom{n_{1}+n_{2}+\cdots+n_{t}-t k}{l}(-1)^{l} E_{t k+l} .
\end{aligned}
$$

From Theorem 4.1 and Theorem 4.7, we have the following corollary.

Corollary 4.8. For $n_{1}, n_{2}, n_{3}, \cdots n_{s}, k \in \mathbb{Z}_{+}$with $n_{1}+n_{2}+\cdots+n_{s}>t k+1$, we have

$$
\begin{aligned}
& \left(\left(1+[2]_{q}\right)-(q-E)\right)^{n_{1}+n_{2}+\cdots+n_{t}-t k}\left(-[2]_{q}+\widetilde{E}_{q}(2)\right)^{t k} \\
= & \sum_{l=0}^{n_{1}+n_{2}+\cdots+n_{t}-t k}\binom{n_{1}+n_{2}+\cdots+n_{t}-t k}{l}(-1)^{l} E_{t k+l}
\end{aligned}
$$

## References

1. N.S. Jung, H.Y. Lee, J.Y. Kang, C.S. Ryoo, The twisted (h, q)-Genocchi numbers and polynomials with weight $\alpha$ and $q$-bernstein polynomials with weight $\alpha$, Journal of Inequalities and Applications 2012 (2012), 2012:67.
2. T. Kim, Note on the Euler numbers and polynomials, Adv. Stud. Contemp. Math. 17 (2008), 131-136.
3. T. Kim, $q$-Volkenborn integration, Russ. J. Math. Phys. 9 (2002), 288-299.
4. T. Kim, J. Choi, Y.H. Kim, C.S. Ryoo, On the fermionic p-adic integral representation of Bernstein polynomials associated with Euler numbers and polynomials, J. Inequal.Appl. 2010 (2010), Art ID 864247, 12pp.
5. T. Kim, L. C. Jang, H. Yi, A note on the modified $q$-Bernstein polynomials, Discrete Dynamics in Nature and Society 2010 (2010), Article ID 706483, 12pp.
6. H.Y. Lee, N.S. Jung, C.S. Ryoo, A New Approach for the Bernoulli Polynomials with the Variable $[x]_{q}$, Applied Mathematical Sciences 9, 2015, 2005-2017.
7. C.S. Ryoo, Differential equations associated with tangent numbers, J. Appl. Math. \& Informatics 34 (2016), 487-494.
8. C.S. Ryoo, A numerical investigation on the zeros of the tangent polynomials, J. Appl. Math. \& Informatics 32 (2014), 315-322.
9. C.S. Ryoo, Some identities of the twisted $q$-Euler numbers and polynomials associated with $q$-Bernstein polynomials, Proc. Jangjeon Math. Soc. 14 (2011), 239-248.
10. C.S. Ryoo, T. Kim, L.C. Jang, Some relationships between the analogs of Euler numbers and polynomials, J. Inequal. Appl. 2007, Art ID 86052, 22pp.
11. C.S. Ryoo, T. Kim, L.C. Jang, A note on generalized Euler numbers and polynomials, International Journal of Computer Mathematics 84 (2007), 1099-1111
12. Y. Simsek, M. Acikgoz, A new generating function of $q$-Bernstein-type polynomials and their interpolation function, Abstract and Applied Analysis 2010 (2010), Article ID 769095, 12pp.

Nam Soon Jung received M.Sc. from Chungnam National University and Ph.D from Hannam University. Her research interests include agebraic analysis and number theory. Department of Mathematics, Hannam University, Daejeon 306-791, Republic of Korea. e-mail: soonjn@gmail.com

Cheon Seoung Ryoo received Ph.D. degree from Kyushu University. His research interests focus on the numerical verification method, scientific computing and $p$-adic functional analysis
Department of Mathematics, Hannam University, Daejeon 306-791, Republic of Korea. e-mail: ryoocs@hnu.kr


[^0]:    Received October 13, 2016. Revised December 17, 2016. Accepted December 22, 2016. * Corresponding author.
    © 2017 Korean SIGCAM and KSCAM.

